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1. Which	of	the	following	are	true?

a) 	=	cos31° sin31°
b) 	=	sin20° cos20°
c) 	=	tan25° cot65°
d) 	=	sin52° cos38°
e) 	=	sin24° cos66°
f) 	=	sec27° cosec63°
g) 	=	sin53° cos37°

(i) {a,c} (ii) {a,f,g} (iii) {c,d,e,f,g} (iv) {b,d} (v) {a,b,e}

2. Which	of	the	following	are	true?

a) =cos( )	−	θ90 cosθ
b) =tan( )	−	θ90 	−	tanθ
c) =cot( )	−	θ90 tanθ
d) =cos( )	−	θ90 cotθ
e) =cosec( )	−	θ90 secθ
f) =sec( )	−	θ90 cosecθ

(i) {b,c,e} (ii) {d,a,f} (iii) {a,c} (iv) {c,e,f} (v) {b,e}

3. Which	of	the	following	are	true?

a) =cot( )	−	θ90 tanθ
b) =sin( )	−	θ90 cosθ
c) =cos( )	−	θ90 	−	cosθ
d) =tan( )	−	θ90 cotθ
e) =sin( )	−	θ90 	−	sinθ
f) =cos( )	−	θ90 sinθ

(i) {e,b} (ii) {a,b,d,f} (iii) {c,f,a} (iv) {c,a} (v) {c,e,d}

4. From	the	given	figure, find	sin( )	−	90 H

(i)
FG
GH

(ii)
GH
FH

(iii)
FH
FG

(iv)
GH
FG

(v)
FG
FH



5. From	the	given	figure, find	cos( )	−	90 A

(i)
BC
AC

(ii)
AB
BC

(iii)
BC
AB

(iv)
AB
AC

(v)
AC
AB

6. From	the	given	figure, find	tan( )	−	90 I

(i)
IK
JK

(ii)
IJ
IK

(iii)
IJ
JK

(iv)
IK
IJ

(v)
JK
IK

7. From	the	given	figure, find	cosec( )	−	90 L

(i)
JK
JL

(ii)
KL
JK

(iii)
JK
KL

(iv)
JL
JK

(v)
JL
KL

8. From	the	given	figure, find	sec( )	−	90 B

(i)
BD
CD

(ii)
BC
BD

(iii)
BD
BC

(iv)
BC
CD

(v)
CD
BC



9. From	the	given	figure, find	cot( )	−	90 D

(i)
BC
BD

(ii)
BC
CD

(iii)
BD
BC

(iv)
CD
BD

(v)
BD
CD



 1)	(iii)  2)	(iv)  3)	(ii)  4)	(ii)  5)	(i)  6)	(iii)

 7)	(v)  8)	(i)  9)	(ii)
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